
English SS530
 Assembly Instructions  

FLORENCE CANOPY 3x3M 

ROWLINSON GARDEN PRODUCTS LTD
Green Lane

Wardle, Nr. Nantwich
Cheshire, CW5 6BN

email: sales@rowgar.co.uk
Help Line (Normal Office Hours)  01829 261 121



2 1

3 1

4 1

5 1

6 1

7 2

8 1

10 28

11 4

12 8

13 8

9 2

1 2



14 4

15 4

16 1

17 12

18 5

20

146

24

76

1

M6*15

M6*35

M4*12

19 6

22

23

24

21

16

25

M6*32
16

126

1



1



2



3

4



5

6

7

8

9



10 11

12

13

14



13



14



15






